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1. The full form of CAS is
(a) cost accounting system; (b) computerized accounting system;
(c) computerized accounting software; (d) none of these
2. Computerized accounting system should be able to
(a) rationalize the workflow; (b) decrease data redundancy;
(c) make for error reconciliation; (d) all of these
3. Conversion of business data into useful information is possible by
(a) AIS; (b) CAS; (c) MIS; (d) none of these
4. CAS should all business operations like sales, purchases, finance, inventory etc.
(a) activate; (b) automate; (c) accurate; (d) all of these
5. CAS should be
(a) simple; (b) fast; (c) accurate; (d) all of these
6. CAS should be
(a) secure; (b) safe; (c) extremely reliable; (d) all of these
7. Which one of the following is an advantage of CAS?
(a) automation of business process; (c) integration of business process;
(c) both (a) & (b); (d) none of these
8. Which one of the following is an advantage of CAS?
(a) better supply chain management; (b) better inventory management;
(c) better optimization of workflow; (d) all of these
9. Which one of the following is a disadvantage of CAS?
(a) processes are transaction oriented; (b) better storage of business data;
(c) security & safety of business data; (d) none of these
10. The full form of AlS is
(a) accounting information system; (b) automated information system;
(c) automated integrated system; (d) none of these
11. Which one of the following operation is performed by AIS?
(a) collection of information; (b) records of information; (c) storing of information; (d) all of these
12. In a computerized system, information is provided in the form of
(a) reports; (b) ledgers; (c) final accounts; (d) trial balance



13. Which of the following is not an advantage of outsourcing accounting information?
(a) cost saving; (b) flexibility;
(c) increased profitability; (d) passing sensitive business data to outsider
14. ERP stands for
(a) entity resource planning; (b) enterprise resource planning;
(c) enterprise report planning; (d) environmental resource planning;
15. Which of the following is a component of an accounting system?
(a) people; (b) data; (c) software; (d) all of these
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